14GA. DURASAFE

16 o4 pesmENTIAL
BOLT & NUT PER BRACKET W/ (4 1/74% x 3/4° o TOP FIXTURE ATTACHED W/
HEX HEAD SCREWS (3> 1/4” x 3/4° HEX HEAD SCREWS
ADJUSTABLE SLIDE BRACKET ATTACHED
W/ 174” x 172’ BOLT AND NUTS

16 GA. GALV. RESIDENTIAL
TOP ROLLER BRACKET
ATTACHED W/(3) 1/4* x
3/4” HEX HEAD SCREWS
PER BRACKET

3" 20GA. STRUTS ATTACHED
, W/ (@ 174" x 3/47
2° 10-BALL STEEL HEX HEAD SCREWS AT
45" (MIN) STEM ROLLERS CACH CENTER STILE
W/ 7/16° RETAINER FOR
NON-THREADED SHAFTS

24 GA SKIN (MI50>

e e

]

TYPICAL DURASAFE CENTER HINGE@ ‘ 1
. '

SPLICE TRACKS AT THIS LOCATION

W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16" DIA. x 1~5/8"
LAG BOLTS

Y S
(SPLICE>
STILE STIFFENERS (1) 5/16" DIA. x 1-5/8"
— LOCATED IN HINGE HOLECS) - D LAG BOLT ATTACHED TO JAMB
T ON TOP SECTION ONLY (THROUGH> AT EA. JAMB BRACKET
H
I HOLES FOR STRUT
i ATTACHMENT (IF STRUT 12 GA, DURASAFE 12 GA. GALV. STEEL
f T 7\ 1S REGIURED> END HINGE ATTACHED JAMB BRACKETS
' <TOP) ] Wz (@) 1/4° x 3/4 ATTACHED W/ (1) 1/4"-20
| _ G 5 HEX HEAD SCREWS TRACK SPLICE BOLT & NUT
THREUGH OR (2) RIVETS
g F
EMBOSSMENTS [ C -
NOT SHOWN [ }
l E 3
\-3' x 20 GA, STRUTS \ A ‘
@ PER SECTION A
TACH /@
TYPICAL STILE STIFFENER@ ATTACAED v/ @ T oo rante 3 on pace s
e i HEAD SCREWS AT EACH FOR JAMB BRACKET SPACING-
: T END AND CENTER STILE - ,
SEE TABLE 4 ON PAGE 3J b A ' ¥ TRACK CONFIGURATION FOR 6'6” UP TO 14’ TALL DOORS
FOR STILE PLACEMENTS |__SEE (TABLE 1> DN PAGE 3 N.T.S.
' 16'-0° MAX | FOR STRUT SPACING
INSIDE_ELEVATION ) BOTTOM BRACKET
N.T.S ATTACHED
e W/ (5) 1/4" x 3/4"
HEX HEAD SCREWS\
REV | DESCRIPTION OF REVISIONS DATE BY
12 GA. DURASAFE
END HINGE ATTACHED CONT. STEEL RETAINER
W/ @ 1/4° x 3/4° W/ CONT. BTM SEAL
3¢ 20GA. STRUTS HEX HEAD SCREWS 3’A12"?Eéi-| SJRSI = S
[=3]
S e e 14GA, DURASAFE @ 1747 X 3/4° SECTION A—A (SIDE VIEW) MAX SIZE | S8 I S
HEAD SCREWS AT ROLLER CARRIERS ATTACHED HEX HEAD SCREWS N.T.S. 16) WIDTH | B3 - EOF 5 \\ g
END STILES TO END STILE W/ @) 1/4° x 3/4° AT END AND CENTER 13 GA. BOTTOM BRACKET 14’ HEIGHT Eu-_ ’ V’ Teorseay, X *4 5
HEX HEAD SCREWS PER CARRIER STILES ATTACHED W A & S
W/(5) 174 X 3/4° = E P ) S
HEX HEAD SCREWS oo v | TE 2 X ., -z
2’ 10-BALL STEEL SUBJECT T0 &x 7 o
45 (MIN) STEM ROLLERS WEIGHT LMITATIONS) ¢ = 4 °
W/ 7716’ RETAINER FOR DESIGN LOADS| 5= ¢ g
NON-THREADED SHAFTS INTERIOR OF GARAGE +25.6 PSF | 9 & ', ; <
MAX. WIDTH 16'0" m291 PSF | 535 (%" { g é" 2
2” 10-BALL STEEL ) ] 1, S .'CE SEY RV 2
TYPICAL DURASAFE END HINGE 45" (MIN> STEM ROLLERS =3 \\ SI"M"E\‘\G\' &
NTS 3 W/ 7/16° RETAINER FOR I 1EsT Loaps | &5 WOIONALE o= =
e NON-THREADED SHAFTS pesieN Loaps[ [ T [ T T T 1 1] g‘g A TR o
+204.8 LBS/FT o NoTE 2 +38.4 PSF | 22 o
(1) 5/16" DIA. x 1-5/8" TYPICAL BOTTOM BRACKET 4 -232.8 LBS/FT —43.6 PSF A TX &
LAG BOLT ATTACHED TO JAMB 2 X 6 SYP OR SPF N.T.S.
AT EA. JAMB BRACKET (NO. 2 OR BETTER)

20 GA CENTER STILES a] ]

7 , , THE METHOD OF TESTING WAS IN SUBSTANTIAL SPECTICATIONS AND NOTES
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK, ENTRGMAT'C
L 1/ = /, ' £330 AND DASMA 108, THE PRESSURES SHOWN ON THE FROU U TACK T 1080 TAISTERED o i Vol s, 165 CARRIAGE COURT WINGTDN-ASTEN, N, 27105
; DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH R P s MAXIMUM DESIGN LOADS OF: MODEL #650 OAK SUMMIT w/DuraSafe
20 GA. CALV. STEEL THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN HOAS LT & ~amslssAT O MODEL #600 STRATFORD w/DuraSafe
7/16" DIA. BOLT RETAINER THE END ZONE, ROOF AT ANY SLOPE, AND I=1.0): AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. MODEL #950 HERITAGE w/DuraSafe
1/4-20 x S5/8°TRACK (1) PER ROLLER WIND SPEED (MPH) 130 118 112 107 103 ébaagRRusAichETiHALL BE 25 GA. MIN. (.019") ROLLED FORMED LIGHT Short, LODg, Flush & Oak Summit Panel’s
SPLICE DOLT SND NUT 2" GALY. STEEL TRACK EXPOSURE LEVEL B c c D D 5. SUPPORTNG STRUCTURAL ELEWENTS SHALL BE DESINED SZE| DRAWNBY  RR| DATE 05/22/14 DRAWNG NUMBER
: MEAN ROOF HEIGHT| 30 | 15 | 25 | 15 | 25 , 6016=130-15-
TRACK MOUNTING DETAIL 5. REFER. 10 TABLES ON' THE PAGE. 3 FOR ADDITIONAL DOOR WDTHS B ook by DATE IRC-6016-130-15-P
N.T.S. AND THEIR DESIGN PRESSURES SHEET 1 OF 3




WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO wODOD FRAME STRUCTURE
5/16° X 3’ LAG SCREWS STARTING 6“ FROM ENDS THEN 24° O.C. <1 1/2* EMBEDMENT)

B B 2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI_CONCRETE
HILTI KWIK BOLT 3/8° X 4’ STARTING 6 FROM ENDS THEN 24“ O.C. (2 1/2" EMBEDMENT)
— 2;Da%%ﬁ:TSDLR%1'; IEDL%QE%DSE%T]I‘E{E TaP HILTI SLEEVE ANCHOR 3/8” X 2-3/4” STARTING 6° FROM ENDS THEN 20” O.C. <1 1/4” EMBEDMENT)
< B e L R e ITW/RAMSET REDHEAD (TRU-BOLT> 3/8” X 4 STARTING 6° FROM ENDS THEN 24 OC. (2 1/2* EMBEDMENT)
A Iezzql 74| 27241 Pt A e 2 X & VERTICAL JaMp ATTACHMENT T0 HOLLOV C-30 BLOCK
: : ALY 7 k- Al i STILES SIMPSON 1/4* X 3* TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS
(3" APART)> AT 16" O.C. (1 1/2" EMBEDMENT)

HILTI 1/4* X 2-3/4" KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF

FASTENERS (3° APART> AT 16 O.C. <1 1/4° EMBEDMENT)

LONG PANEL TOP GLAZED SECTION (STRUT AND STILE LAYDUTS) 6 VERTICAL B GROUTED C-90 BLOCK <2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8° X 2-3/4“ STARTING 6° FROM ENDS THEN 247 OC. (1 1/4°

EMBEDMENT)> (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE,
*PREPARATION OF wOOD JAMBS BY OTHERS

\ Y
CONCRETE HOLLOW BLOCK GROUTED BLOCK

woaD
= STRUCTURE STRUCTURE STRUCTURE STRUCTURE
Li r - ~
2
\ 1} 1 L \
g —\I 1 | ‘\I
J -} g J —J
38-1/8" 1/2° MIN 2-3/4" MIN 1-1/2° Id_IN 47
o ! 2X6 JAMB
" 20 > 2¢ 3 2 3 TYP. 3 MIN
.3 2.
10-5/8"
2 3 %
L= 2, 3, 2 ) 2 /
%
NTSLI:ING PANEL GLAZING FASTENER DETAIL o REV | DESCRIPTION OF REVISIONS DATE BY
e i
o
FL N
MAX SIZE | S8 N
16 WDTH_ | 83 N
/ 14’ HEIGHT | *3 s
a3 5
% xE 3
(DOOR HEIGHT | & S
i SUBJECT TO a X o
WEIGHT LIMITATIONS), Cu-z (G)
DESIGN LOADS| 56 ; g
i} +25.6 PSF @2 f : L3
GLAZING OPTION CROSS SECTION ¢ e |52 g, 7USC0 L& 3
GLAZING NOT AVAILABLE IN WIND-BORNE DEBRIS REGION s 'l‘ "25 */CENSEY. \é".« g
P \CSSIONAL BN =
= TEST LOADS | £ 3 W (?\"LA\L\E 2
8 T
o oo A E i mE 2 Ty :
WITH UV PROTECTION o |k n 3 ' ?
// MIN. 1/8”" THICK Lexan T |- e | = §
9030 POLYCARBONATE o |2 P ™l =
[$) I
, 3t B . 4 ary
L | EMATIC
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
AT éA‘QH*énéRﬁ’éAﬁa“vZ'SSBWSESiﬁ OLDED INSIDE. FRAVE Egggt zggg g%A gggg)ﬂ %Dursas:fe
w uraosaie
SECTION B—B ' ' MODEL #950 HERITAGE w/DuraSafe
I d Short, Long, Flush & Oak Summit Panel’s
AVAILABLE TRACK CONFIGURATIONS SZE| DRAWNBY  RIR| DATE 05/22/14 DRAMNG NUMBER
NTS. B | cHEcke By DATE IRC-6016-130-15-P
SHEET 2 OF 3




TABLE 4 TABLE 1

. " . Max Design Load
Section Center St Locations (Measured from Lef Edge) > Nowed DOOR 3" STRUT SPACING (BASED ON RECOMMENDED SECTION CONFIGURATION) TOP
Wif(tith Pandl Type I3t |4 St | o | 7th | Positive | Negitve HEIGHT A B C D E F G H ] J K L M N 0 T
1(0')0 Short - - - - (:i? (:;Z) 6'6" |51/2"|18 1/4" {25 1/2"|36 1/4" |43 1/2"|54 1/4" |61 1/2" 76 1/2"
100 Long 40.8 46.3 7' 51/2"118 1/4" |25 1/2" |39 1/4" |46 1/2" |60 1/4" |67 1/2" 82 1/2"
i - of 83 76" |5 1/2"[15 1/4"|22 1/2"| 33 1/4"|40 172" |51 1/4" |58 1/2"]69 1/4"|76 1/2" 88 172"
120 Loﬁg T16.75 370 56 8' 51/2"118 1/4" {25 1/2" 136 1/4" |43 1/2" |54 1/4" {61 1/2" |72 1/4"|79 1/2" 94 1/2"
12°0 |Oak Summit 119.38 34.0 38.6 8'6" |51/2"|118 1/4"|25 1/2"|39 1/4" |46 1/2" |60 1/4"|67 1/2"|78 1/4"|85 1/2" 100 1/2"
e s 2o 9|5 172" [15 1/4" |22 1/2" | 33 1/4" |40 1/2" |51 1/4" |58 112" |69 1/4" |76 1/2"| 87 1/4" | 94 1/2" 106 112"
122 |Oak Summit 120.88 33.5 38.1 9'6" |51/2"|18 1/4"|25 1/2"|36 1/4"|43 1/2" |54 1/4"|61 1/2" |72 1/4"}79 1/2"| 90 1/4" | 97 1/2" 112 1/2"
i 12 s 10" |5 1/2"[1871/4"[25 1/2"|39 1/4"[46 1/2"[60 1/4"|67 1/2"[78 1/4"[85 1/2"] 96 1/4" 103 1/2" 118 172"
5 Toa S 55 o T 58 106" |5 1/2"|18 1/4" |25 1/2" |39 1/4" |46 172" |60 1/4" |67 1/2" |81 1/4" |88 1/2" | 102 1/4" [ 109 1/2" 124 172"
1276 | Short 123.66 32.6 37.1 11" |5 1/2"|18 1/4" |25 1/2"[36 1/4" |43 1/2" |54 1/4" |61 1/2"|72 1/4"|79 1/2"| 90 1/4" | 97 1/2" | 108 1/4"|115 1/2" 130 1/2"
Dot i =L 116" |5 172" |18 1/4" |25 1/2" |39 1/4" |46 1/2" |60 1/4" |67 1/2" |78 1/4" |85 1/2"| 96 1/4" [103 1/2" 114 1/4"[121 1/2" 136 1/2"
12'8 | Short 124.66 32.2 36.6 12" |5 1/2"[18 1/4" |25 1/2"|39 1/4" |46 1/2" |60 1/4" (67 1/2"|81 1/4"|88 1/2"|102 1/4" {109 1/2"|120 1/4"|127 1/2" 142 1/2"
e e L o 12'6" |5 1/2"[18 1/4"|25 1/2"[36 1/4"[43 1/2"[54 1/4"[61 1/2"| 72 1/4"|79 1/2"] 90 174" | 97 1/2" [108 1/4"[115 1/2"|126 1/4"[133 1/2"|148 1/2"
1210 asﬂm" 726.50 378 26:1 13" |5 1/2"|18 1/4"|25 1/2" |39 1/4" |46 1/2" |60 1/4" |67 1/2"|78 1/4" |85 1/2"| 96 1/4" |103 1/2"|114 1/4"|121 1/2" (132 1/4"|139 1/2"{154 1/2"
12.10] long 124.80 318 36.1 13'6" |5 1/2"|18 1/4"[25 1/2"|39 1/4" |46 1/2" {60 1/4"|67 1/2" |81 1/4"{88 1/2"{102 1/4"| 109 1/2" {120 1/4"|127 1/2"|138 1/4"|145 1/2"| 160 1/2'
e s 28 et 14 |5 1/2" |18 1/4" |25 1/2" |39 1/4" |46 172" |60 1/4" |67 172" |81 1/4" |88 172" [102 1/4" | 109 1/2" 123 1/4" [130 1/2" | 144 1/4" | 151 1/2"|166 1/2"
13'0 Long 125.80 31.4 35.6
130 [Oak Summit] 128.38 31.4 35.6
132 Short 129.00 31.0 35.2
132 Long 126.80 31.0 35.2 TABLE 2
13"‘% Oaksiu:mi 129.{238 31.0 35.2v DOOR SECTION HEIGHTS
T 12 R e HEIGHT [Btm [ 72 | #3 | #4 [ #5 | % | #7 | 75
13 4_|Oak Summi] 13138 306 | 347 1; g ;1 51 51 21 21 12; f; ;1
13'6 Short 132.20 30.2 34.3
136 | Long 131.20 02 | 343 130" |21 |21 | 21" | 18" [ 18" | 18" [ 18" | 21"
13'6 jOak Summit 132.88 30.2 34.3 12'6" [ 21" 118" ] 18"| 18" [ 18" | 18" | 18" | 21"
:2: fh"” gggg §§§ ggg 120 |21 [21" | 21" | 21" | 21" [ 18" | 21"

ong ‘ : : 116" | 21" [ 21" [ 21" [ 18" [ 18" [ 18" | 21"

138 _|Oak Summi 134,38 298 33.9 — A
3 10] _ Short T34.55 295 | 335 1O j217) 18" | 1871 18" | 18" | 18" ) 21
7310] Long 134.66 295 335 106" [21"}21" 21" | 21" | 21" | 21
13710 |Oak Summit 135.88 29.5 335 10°0" J21" (21" 21" [ 18" [ 18" [ 21"
140 Short 136.35 29.1 33.1 9'6" 21" 118" [ 18" [ 18" { 18" | 21"
14:'0 Long _ 134.75 29.1 33.1 90" 18" 118" | 18" | 18" | 18" | 18"
140 [Oak Summit 137.38 29.1 33.1 36" 21" | 21" | 21" | 18" | 21" REV | DESCRIPTION OF REVISIONS DATE BY
14'2 Short 137.57 28.8 32.7 30" 21" 18" | 18" | 18" | 21
142 | Long 136.66 288 327 — S A L LA A
142 [Oak Summit 138.88 %8 | 327 ; g“ ;? ;? ;? ;? 18 S
14'4 Short 139.55 28.4 32.3 —m g
44 | _Long 137.66 %4 | 323 66" |21 |18 | 18" | 21" MAX SIZE gg SNy S
74 4_|Oak Summit 140.38 284 | 323 16 WDTH |53 S~ <EOFT \\\ 9
776 | Shor 4115 281 319 14 HEIGHT =2 -~ V*,q A g
146 | Long 138.66 28.1 319 =% e e S|
TS| e e TABLE 3 (Qoon o | o 2GS
TE T T : TSI | 278 | 316 WEIGHT LIMITATIONS)] =~ & SE
143 [Oak gzgnmit ; . 78 378 DOOR TRACK ATTACHMENT SPLICE DESIGN LOADS ég 3
14'10] Short | 33.53 275 31.2 HEIGHT[A| B | C|D|E| F |G| H S +25.6 PSF |5 ¢ -
1710] Long | 23.90 275 31.2 6'6" |10"|21"| 39" | 57" 70" -29.1 PSF 1 £2 =
14" 10 [Oak Summit] 33.13 27.5 31.2 7' 10" 21" | 242" [ 63" 76" ﬁ% ;
150 Short 47.91 27.2 30.9 e =

, 76" [10°] 18" | 36" | 54" | 72" 82" 4% o
150 | Long | 2490 272_| 309 T TioTar o e e 5 TEST Loaps | £ S 3
15.0 [Oak Summit| 33.63 27.2 30.9 s ot T 65 67 7 +38.4 PSF .8§ g
15'2 Short 48.50 26.9 30.5 x - - . . . . - —43.6 PSF |FZ 5
15'2 Long 25.90 26.9 30.5 9 10"} 18" | 36" | 54" | 72" | 90' 100 n
15"2 |0ak Summit| 34.13 26.9 30.5 96" 10" 21" 1 39" | 57" | 75" | 93 106"
1:2 f""" gjgg ggg §8§ 107 |10"| 21" | 42" | 63" | 81" | 99" 712"

ong - - - - 0 W " W W W 0

e e R A A
15' 6 Short 23.44 26.3 29.9
156 | Long | 260 %3 | 299 116" (107 21" [ 42" [ 63" [ 81" | 96 [117" 130 ENTREMATIC
156 [Oak Summif] 24.63 26.3 29.9 12 110" 21" | 42" | 63" | 84" {105"|123 136 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
T e T 126" [107 21 [ 36"| 57" [ 76" [ 63" [111°]120] 142" MODEL #650 OAK SUMMIT w/DuraSafe
15' 8 L 25.90 26.0 20.6 q w v m 0 W 0 W o 0
158 |Oak g?fnmit 25.03 26.0 29.6 1,3 - 10" 21_, 42,, 63" 81" 99" 117" 135" 148" MODEL #600 STRATFORD w/DuraSafe
1510  Short | 25.44 25.7 29.3 136" [10"] 21" | 42" | 63" | 84" |105"/123"|141"] 154 MODEL #950 HERITAGE w/DuraSafe
15 10] Long | 26.25 257 | 293 14 j10"] 21" ] 42" | 63" | 84" |105"|126"|147"| 160" Short, Long, Flush & Oak Summit Panel’s
e L A TR ACK A TIACHMENT SPACING /iy L-OWED SZE| DRAWNBY RIR| DATE 05/22/14 DRAWNG NUMBER
160 Long | 27.90 25.6 29.1 Bl cHecken py DATE IRC-6016-130-15-P
16'.0 |Oak Summit} 24.63 | - 25.6 29.1
*ONLY SHADED STILES ARE HINGED SHEET 3 OF 3




